
Контрольная работа по теме: «Логарифмическая функция» 

Вариант 1 
 

1. Найдите значение выражения: 

а) 𝑙𝑜𝑔6𝑙𝑜𝑔264  б) 𝑙𝑜𝑔2224 − 𝑙𝑜𝑔27  в) 
𝑙𝑜𝑔5 √43

5

𝑙𝑜𝑔543
 

г) 11 ∙ 4𝑙𝑜𝑔23   д) 𝑙𝑜𝑔65 ∙ 𝑙𝑜𝑔25216  е) 5𝑙𝑜𝑔9 √9
3

− 𝑙𝑜𝑔7349 

2. Решите уравнение: 

а) 𝑙𝑜𝑔2(12 − 4𝑥) = 5  б) 𝑙𝑜𝑔8(4𝑥 + 7) = 𝑙𝑜𝑔83  в) 8𝑙𝑜𝑔8(𝑥+26) = 34 

г) 𝑙𝑜𝑔828𝑥−4 = 4  д) 𝑙𝑜𝑔7(11𝑥 + 5) − 𝑙𝑜𝑔72 = 𝑙𝑜𝑔719 

3. Решите неравенство: 

а) 𝑙𝑜𝑔2(𝑥 + 5) + 𝑙𝑜𝑔223 ≥ 𝑙𝑜𝑔269  б) 𝑙𝑜𝑔1

7

(9 − 𝑥) + 𝑙𝑜𝑔1

7

1

𝑥
≤ 𝑙𝑜𝑔1

7

(
1

𝑥
− 𝑥 + 8) 

Контрольная работа по теме: «Логарифмическая функция» 

Вариант 2 
 

1. Найдите значение выражения: 

а) 𝑙𝑜𝑔7𝑙𝑜𝑔337  б) 𝑙𝑜𝑔1316,9 + 𝑙𝑜𝑔1310  в) 
𝑙𝑜𝑔6 √51

5

𝑙𝑜𝑔651
  

г) 13 ∙ 49𝑙𝑜𝑔72  д) 𝑙𝑜𝑔73 ∙ 𝑙𝑜𝑔949  е) 2𝑙𝑜𝑔558 + 𝑙𝑜𝑔
√11
5 121 

2. Решите уравнение: 

а) 𝑙𝑜𝑔2(−5𝑥 − 6) = 6  б) 𝑙𝑜𝑔4(2𝑥 − 9) = 𝑙𝑜𝑔46  в) 9𝑙𝑜𝑔9(𝑥−6) = 3 

г) 𝑙𝑜𝑔2735𝑥−2 = 9  д) 𝑙𝑜𝑔9(3𝑥 − 4) − 𝑙𝑜𝑔94 = 𝑙𝑜𝑔95 

3. Решите неравенство: 

а) 𝑙𝑜𝑔0,25(2𝑥 − 7) + 𝑙𝑜𝑔0,2535 ≥ 𝑙𝑜𝑔0,2570  б) 𝑙𝑜𝑔10

3

(2 − 𝑥) + 𝑙𝑜𝑔10

3

2

𝑥
≥ 𝑙𝑜𝑔10

3

(
3

𝑥
− 6𝑥 + 3) 

Контрольная работа по теме: «Логарифмическая функция» 

Вариант 3 
 

1. Найдите значение выражения: 

а) 𝑙𝑜𝑔3𝑙𝑜𝑔6216  б) 𝑙𝑜𝑔1723,8 − 𝑙𝑜𝑔171,4  в) 
𝑙𝑜𝑔4√43

𝑙𝑜𝑔4 √43
4   

г) 12 ∙ 125𝑙𝑜𝑔52  д) 𝑙𝑜𝑔425 ∙ 𝑙𝑜𝑔516  е) 2𝑙𝑜𝑔7343 + 𝑙𝑜𝑔
√16
3 256 

2. Решите уравнение: 

а) 𝑙𝑜𝑔0,2(4𝑥 + 7) = −2  б) 𝑙𝑜𝑔9(9𝑥 − 8) = 𝑙𝑜𝑔912  в) 9𝑙𝑜𝑔9(3𝑥−8) = 15 

г) 𝑙𝑜𝑔6443𝑥−3 = 6  д) 𝑙𝑜𝑔2(𝑥 + 1) = 3 − 𝑙𝑜𝑔2(𝑥 + 3) 

3. Решите неравенство: 

а) 𝑙𝑜𝑔0,1(𝑥 + 4) + 𝑙𝑜𝑔0,1(𝑥 − 5) ≤ −1 б) 𝑙𝑜𝑔3
2(5𝑥 − 6 − 𝑥2) − 6𝑙𝑜𝑔3(5𝑥 − 6 − 𝑥2) + 8 > 0 

 



ОТВЕТЫ 

Вариант 1 

1. а) 1  б) -5  в) 0,2  г) 99  д) 1,5  е) 1 

2. а) −5  б) −1  в) 8  г) 2  д) 3 

3. а) 𝑥 ∈ [−2; +∞)  б) 𝑥 ∈ (0; 1] ∪ [8; 4 + √17) 

 

Вариант 2 

1. а) 1  б) 2  в) 0,2  г) 52  д) 1  е) 26 

2. а) −14  б) 7,5  в) 9  г) 5,8  д) 8 

3. а) 𝑥 ∈ (3,5; 4,5]  б) 𝑥 ∈ (0;
1

3
] ∪ [

1

2
; 1) 

 

Вариант 3 

1. а) 0,5  б) 1  в) 2  г) 96  д) 4  е) 12 

2. а) 4,5  б) 2  в) 8  г) 7  д) 1 

3. а) 𝑥 ∈ [6; +∞)   б) 𝑥 ∈ (−∞; −2) ∪ {
6

7
} ∪ (5; 6] 

 




